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1. How is the majority of client code in D2 authored?

A. Using JavaScript, the code is compiled into an unobfuscated JavaScript "permutation" and delivered
to the browser in a single file.

B. Using Java, the code is complied into an obfuscated JavaScript "permutation" and delivered to the
browser in a single file.

C. Using Java, the code is complied into an unobfuscated JavaScript "permutation" and delivered to the
browser in a single file.

D. Using JavaScript, the code is compiled into an unobfuscated JavaScript "permutation" and delivered
to the browser as multiple files.

Answer(s): B

2. A repository has objects of dm_document type in a folder named "SOPNet". A user wants to
find all dm_document in this folder AND all containing subfolders checked out by them.

A. and folder(/SOPNet)

B. and folder(/SOPNet, *)

C. and folder(/SOPNet, all)

D. and folder(/SOPNet, descend)

Answer(s): D

3. Which DQL statement is used to modify an object type?

A. ALTER TYPE



B. MODIFY TYPE

C. SET OBJECT

D. MODIFY

Answer(s): A

4. Which statement is true about the relationship between virtual documents and XML
documents?

A. A single query is used to list all XML documents and all virtual documents.

B. A single query is used to find all direct descendents of XML documents or virtual documents.

C. XML documents and virtual documents both have hierarchical structures.

D. XML documents automatically parse and organize imported compound virtual documents.

Answer(s): C

5. xPlore is not installed and configured for the repository. A user executes a Simple Search in
Webtop for "quick brown fox".

A. only objects with the word "quick", the word "brown", and the word "fox" in the object_name, title AND
subject property

B. only objects with the word "quick" and the word "brown" and the word "fox" in the object_name, title
OR subject property

C. only objects that have "quick brown fox" in the object_name, title OR subject property

D. only objects that have "quick brown fox" in the object_name, title, AND subject properties

Answer(s): B

6. Which action requires WRITE permission, at a minimum?



A. Check in a document as the next minor version.

B. Check in a document as the next major version.

C. Check in a document as the same version.

D. Check in and view the content of a Microsoft Word document.

Answer(s): C

7. What are the guiding principles of EMC Energy & Engineering Solutions?

A. Environmental, Health and Safety (EHS) Compliance; business readiness; optimization

B. Industry standards, business readiness, optimization

C. Industry standards, business readiness, interoperability

D. Environmental, Health and Safety (EHS) Compliance; industry standards; interoperability

Answer(s): C

8. Which benefit does the Branch Office Caching Services (BOCS) architecture provide in a
single-repository distributed environment?

A. Global users, global groups, and global ACL's can be created on a governing repository to be
replicated onto member repositories.

B. A copy of the content to store at each location is created.

C. Content and properties from the repository are published to a target site.

D. Content upload and download performance is improved.

Answer(s): D



9. What executes the automatic activities of a business process?

A. workflow process data

B. workflow manager

C. workflow supervisor

D. workflow agent

Answer(s): D

10. Which statement about Composer Projects is true?

A. Composer Projects have the same characteristics as Virtual Documents.

B. Composer Projects can be uninstalled from the repository.

C. Composer Projects can be versioned.

D. Composer Projects can be archived into DAR files.

Answer(s): D

11. On which stage or stages of the lifecycle are entry criteria evaluated?

A. Demotion only

B. Both Demotion and Promotion

C. Neither Demotion nor Promotion

D. Promotion only

Answer(s): D



12. Which statement is true regarding lifecycles and workflows?

A. A lifecycle defines who does what and in which order. A workflow defines entry criteria.

B. A lifecycle is a linear progression of states. A workflow is a network of activities.

C. A lifecycle defines what happens in a particular activity. A workflow defines operations and actions.

D. With lifecycles, objects are forwarded. With workflows, objects are promoted.

Answer(s): B

13. A Webtop user has the Client Capability attribute set to "Consumer."

A. Cannot delete documents or launch workflows.

B. Cannot delete documents or view documents.

C. Cannot delete groups or launch workflows.

D. Cannot delete workflows or view forms.

Answer(s): A

14. Which High Volume Server feature enables the creation of an offline partition in the database,
loads data into that offline partition, and then rapidly brings that offline partition online?

A. High Volume Server - Batching

B. High Volume Server - Partitioning

C. High Volume Server - Partition Exchange

D. High Volume Server - Scoping

Answer(s): C



15. An external table has been registered using this DQL statement:

A. SELECT airport_code_table FROM airport_code name = "John F. Kennedy Airport"

B. SELECT airport_code FROM airports_table WHERE airport_name = 'John F. Kennedy Airport'

C. SELECT airport_code FROM airport_code_table. airport_name = 'John F. Kennedy Airport'

D. SELECT airport_code FROM dm_airports_table WHERE airport_name = 'John F. Kennedy Airport'

Answer(s): B

16. How do search rankings in CenterStage appear?

A. Up to three bullets

B. As a percentage

C. As a number from one to five

D. Up to four bars

Answer(s): A

17. A parent workflow initiates a child workflow, and the parent workflow is configured to wait for
the child workflow to complete. What must happen for the parent workflow to proceed?

A. The Content Server must receive an event after the child workflow completes.

B. A notification must be received in the parent's activity after the child workflow completes.

C. An event must be received in the parent's activity after the child workflow completes.

D. The Documentum Messaging Services must receive an event after the child workflow completes.

Answer(s): C



18. Which action moves a document to a previous lifecycle state?

A. Previous

B. Suspend

C. Back

D. Demote

Answer(s): D

19. A user needs to add components to a virtual document.

A. Browse

B. Version

C. Write

D. Relate

Answer(s): B

20. Which DQL element is used to identify the object type and RDBMS tables to retrieve from a
Documentum repository?

A. PROPERTIES

B. WHERE

C. FROM

D. SELECT

Answer(s): C




